LT 5443 $1900¢ $|968C $|s6LT $) LT | ¥61E $lever $[Tv8T $|oviT $[TToT § ) LT |LivIE $lcrec $|co8T $[loLT  $| LT
9T | 60°TE $19267 $ 1898 $]L9LC $) 92 |291¢ $vl6c $| €18 $|el'LT $]96ST $) 9T [9l'lg $1¢887 $|SLLT $|vior §$| 9T
ST | LLiE $|Lv6er §|688C $[OVLT § ] ST | I€1E $|S88C $|98LC $|989C §$|ILSC $ ]| ST |S80€E $ 668 $|LvLT $|Lv9T  §| ST
vl | SY'IE $ 18162 $|1I'8C $|CI'LZ $| vT |007TE $ 458 §|85LC $|659C $|s¥sTt §| T | ¥S0€ $1978C §|0TLC $ (19T $| ¥T
€C | vlIE §1688C §|€8LC §|989C §| €T | 690¢ $[8C8C $|1€LC $[€€9C §]0TST $§| €T | +vT0¢ $|86LC $|c69C $[s6st §$| €T
7T | £8°0¢ $[098C $[95LC §]659C $| TT |6£0¢ $ (008 $[v0LT §|L09C §|S6¥T $| TT | ¥6'6C $|ILLT §1999C §[oLsT $) Tt
IT | €5°0¢ $12e8C §[8LT §]¢€€9C $]| 1T | 600¢ $leic §sfLL9t §]18sT §|oLyT § | 1T | ¥96T $leviT $|ov9T $|vpST  §| 1T
0T | £T0¢ $ | ¥08T $ | 10Lc § [L09T $ ] 0T |6L6C $|SYLT $]|059C $|SSST $|9¥T $| 0T | S€6T $lorLc $|vior gle61sc  §| o0t
61 | 8L6T $(2oLc §$[T99C §|89ST $| 61 |SE6T $]s0LT $|119C §|8I'ST $|ol¥c $| 61 [T68C $|19L9C §|sLst s$|1T8VC S| 6l
81 | vt'6C $1124C $]209C §$|0eST $) 8T |T68T §[S599C $[€eLsT §|08¥C $|HLET §| 8T |6v8T $]9¢9C $|Lese S| svve S| 81
Ll 16'8C $[189C $]|¢€8ST $[eo¥T § | L1 | 6¥8C $]ST9C §$|SesT $ |y $]6€€T $| LI | L0ST $lL65T $]00sT $|60vT §| LI
91 8V'8C $12r9C $|SvsT $|9S¥C $ | 9T |L08C $148SC $|L6¥%C $ )80y §]s0¢T §| 91 |S9LT $1656T $1€9%C §[eLec S| 91
ST | 90'8T §1€09C $[80ST $|oTve $| ST |S9Lt $|8ySC §|09¥C $|TLeC $]|0LCC §| ST |STLT $l1TsT $|9TvT $|8¢T  § | SI
vi 18°LT $1T66T §|8HC $lTLeT §| vI | 1ILT $18F%C $|TI¥C $)9T¢eT $]92CC $| #1 | 1092 $leive $leLec $|26cz | vI
€l L6'9C $[10SC §]01%C $]9C¢C $| €1 |859C $ |6V ¥ $|S9¢€C $]08TC $§|T8IT $| €1 |619¢ $lecve s|ceet $|LivTe ) €1
L | ¥9T $lesy $)€9¢C $)08CC $| T | 909C $110¥%C §|8l'€C §|S€TT §|6€1T $| T | L9ST $loLec §|98¢CC $|e0c §$| U
IT | 98°6T $18¢C §|I1'tc $]0eTT § ) II |8¥ST $leved $ Lot $]981C §]T60C S| 11 1Sz §lvTec $]9¢Tc §[ssic  §) 11
01 | 62°5C $[ovec §]09cT $ 181 $| O |Z6VC $ Lo L1t $]8CICT $]9v0T $| O |9s+T $lclct ¢ |L8IC $§|L0o1C § ] ol
6 €L YT $§lvecc §]01CC §leciz § 6 LEVT $|9vcC $]690C §[160C §]100T $ 6 20¥T $lccee $lecic §$[190T § 6
8 61T $|¥7C $|T91C §|980C § 8 ¥8'¢C $ L6l $|ITIT $|ShoT § |LS61 § 8 6v'€C $]ELIT $]T60T $ 910 § 8
L 99'¢T §|¥61C $|¥IIT §|0¥0OT § L 1£°¢C $|evic §|vL0T §|0000C $|vI6l § L L6'TT $19T1C §|9¥0C § | [L6] $ L
9 ¥1°€C $|91T §890C §|s66l § 9 08'CC §1101C §[6T0C $[9s6l $|TL8l § 9 Ly'TC $]6L0C $]100C §|8T6I $ 9
s £9°CC §|l660C §|TC0C §|IS61 § S 0€'TT §{ssoc $[v86l §[€l6l $|1e8l § s L6'1T $leL0or §|LS6l § 988l $ S
14 144 $l€s0C § |86 §]|8061 § 14 18'1T $loloc s|ovel §|IL81 $ |16l § 14 6v'1T $ 1886l $|vi'6l §|vvsl $ 14
€ $9'1T $1L00C $|vE6l $]9980 § € £e'1C $19961 §$|8681 $|o0c8l §|IsLE § € 10°1T $|Svel §|IL81 §]c08l $ €
[4 L1'1T $1€961 $ |68 §$|sc8l $ < 980T $1CC61 § [958l §|68LL $|CEILl § [4 §6°0C $|c06l $]0€E8L §|+9Ll $ 4
1 0L°0T $]0C61 $|0S8 §|S8LI § 1 0¥'0T $ 10881 $|SI8 $|]0sLl $]SL91 § 1 00T $]0981 $]06L1 ¢ STLIS !
dALS A[INOH AHNOH Aoy Anoq  |dALS AlInoY A[noy A[inoH AjnoH Ano{|dALS ApnoH AJinoH AlINOH AnoH  [dALS
S90Z SS0Z SY0Z S€0Z qA90Z AS0Z AV0Z AE0Z HZ0Z 90Z SO0Z VY0Z €0Z
39133( S, 43)SeJA]| I3 sanoy sanoy EEYFEN] EERT-ET sanoy sanoy sinoy EEXFEN] EEXFEN Sinoy  |sanoy jpasd
sJopydeg| 1pasd Hpan SJISBIAL  [SJojaydeg| 3palsd Npasn 6S 03 dn S I3)SBIA [ do[aydeg | J1pasd 68- 09
611-06 68-09 6I1-06 68-09 611-06

sjeuoissajordered py |euondadaxy

s[euoissajordeted 11q

()1e3g peay apnjdul
J0U SIOP) SHuE)SISSY SuyIEa |, pue (jeuoissajordesed

ad

Aawaoy) 1SSV )

S b

Jpsuf

sAe( L07 ‘Aeq/sinoy L

S)UB)ISISSY Sulyded ], 3 s[euoissajoidesed

she(q L0T ‘Aeq/sinoH L

syue)sissy Sulyaedy % sjeuoissajoidete

ske( L0T ‘Aeq/sinoy L
S)uB)SISSY SuIyoea |, %p sjeuoissajoadesey

1B [00YdS STOC-¥T0T




